

Delhi Urban Shelter Improvement Board Govt. of N.C.T. of Delhi Office of the Executive Engineer, C-04 First Floor, Office cum Shopping Complex, New Ranjit Nagar New Delhi-110008 Email ID: eec4.dusib@gmail.com

NIQ No.03/EEC-4/DUSIB/2020-21/D-512

Dated: 26.09.2020

NOTICE INVITING QUOTATION

Executive Engineer(C-4), DUSIB, on behalf of Delhi Urban Shelter Improvement Board re-invites quotations from intending agencies on percentage basis in sealed cover for the following work:

S.No.	Name of Work	Estimated Cost	Earnest Money	Time of Completion
1.	NOW: GIA to DUSIB for existing infrastructure SH: Repair of Roof of the Staff Quarter no.D- 15B, 640 Slum Tenements Madipur. (PMS: 13085)	Rs.43,855 /-	Rs.880/-	15 days

The quotations along with copy of Registration, PAN Card, GST Registration should reach the office of the Executive Engineer, C-4, DUSIB, First Floor, DDA Shopping Complex, Ranjeet Nagar, New Delhi-110008 latest by 03:00 PM on 28.09.2020 which shall be opened on same day i.e. on 28.09.2020 at 03:30 PM in the presence of E.E.(C-4), AE concerned, AAO(C-4) and TC-4. The intending quotaioners may collect the schedule of quantities and other information from the office of the Executive Engineer (C-4), DUSIB. The terms and conditions of the NIQ are as follows:

TERMS & CONDITIONS

- 1. The work shall be carried out as per CPWD specifications 2014 Vol. I & II with upto date correction slips as per direction of Engineer-in-Charge.
- 2. Payment shall be made as per actual measurement at site of work and payment will be made after acceptance of report of Competent Authority/Engineer-in-Charge.
- 3. No T&P shall be issued by the Department.
- 4. No extra charges shall be paid except for the rate quoted.
- 5. Conditional quotations shall be liable to rejection.
- 6. For any disputes the matter shall be referred to Chief Engineer I, DUSIB, for final decision and the same shall be binding upon both the parties.
- 7. Necessary statutory deduction will be made as per prevailing law.
- 8. Work shall be completed to the satisfaction of Engineer-in-charge.
- 9. Debarred/blacklisted agencies shall not be permitted to participate in the NIQ process.
- 10. The Earnest Money amount to Rs.880/- (Rupees Eight Hundred Eighty Only) @ 2% of the estimated cost of work in the shape of Pay Order/Demand Draft in favor of E.E.C-4, DUSIB put to NIQ along with necessary documents will be submitted.

NOTICE BOARD

Executive Engineer, C-4, DUSIB

NOW: GIA to DUSIB for existing infrastructure

Sub Head: Repair of roof of staff quarter no. D-15B at 640 Slum Tenements Madipur.

SCHEDULE

S. No.	DSR Ref	Particulars	Quantity	Unit	Rate (in Rupees)	Amount
1	26.28.2	Chipping of unsound/weak concrete material from slabs, beams, columns etc. with manual Chisel and/ or by standard power driven percussion type or of approved make including tapering of all edges, making square shoulders of cavities including cleaning the exposed concrete surface and reinforcement with wire brushes etc. and disposal of debris for all lead and lifts all complete as per direction of Engineer-In-Charge 50mm average thickness	11.85	Sqm	111.55	1321.87
2	26.29.1	Cleaning of reinforcement from rust from the reinforcing bars to give it a total rust free steel surface by using alkaline chemical rust remover of approved make with paint brush and removing loose particles after 24 hours of its application with wire brush and thoroughly washing with water and allowing it to dry, all complete as per direction of Engineer-In-Charge. Bars up to 12 mm diameter	150.00	m	4.15	622.50
3	13.9.2	Cement plaster 1:3 (1 cement: 3 coarse sand) finished with a floating coat of neat cement. 20 mm cement plaster	11.85	Sqm	313.25	3712.01
4	13.18	Deduct for not providing Neat cement punning	11.85	Sqm	-42.60	-504.81
5	18.76.1	Cutting holes up to 30x30 cm in walls including making good the same: With common burnt clay F.P.S. (non modular) bricks.	8.00	No.	219.20	1753.60
6	10.1	Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	187.80	Kg	58.45	10976.91

7	13.37.1	White washing with lime to give an even shade: New work (three or more coats)	11.85	Sqm	17.25	204.41
8	13.61.1	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade : Two or more coats on new work.	1.84	Sqm	78.40	144.26
9	14.13	Regrading terracing of mud phaska covered with tiles or brick, in cement by dismantling tiles or bricks, removing mud plaster, preparing the surface of mud phaska to proper slope, relaying mud plaster gobri leaping and tiles or bricks, grouted in cement mortar 1:3 (1 cement : 3 fine sand) including replacing unserviceable tiles or bricks with new ones and disposal of unserviceable material to the dumping ground (the cost of the new tiles or brick excluded), all complete as per directions of Engineer-In- Charge.	19.82	Sqm	314.10	6225.46
10	13.80	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete.	72.36	Sqm	87.35	6320.65
11	15.56	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	11.85	Sqm	22.40	265.44
12	13.41.1	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade. New work (two or more coats) over and including water thinnable priming coat with cement primer.	60.51	Sqm	93.70	5669.79
13	15.7.4	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engineer-in- charge.In cement mortar	0.63	Cum	842.75	530.93

14	6.4.2	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level in all shapes and sizes in : Cement mortar 1:6 (1 cement : 6 coarse sand)	0.63	Cum	5582.85	3517.20
15	13.1.2	12 mm cement plaster of mix : 1:6 (1 cement: 6 fine sand)	5.52	Sqm	160.35	885.13
16	15.60	Disposal of building rubbish / malba / similar unserviceable, dismantled or waste materials by mechanical means, including loading, transporting, unloading to approved municipal dumping ground or as approved by Engineer-in- charge, beyond 50 m initial lead, for all leads including all lifts involved.	2.00	Cum	120.55	241.10
						41886.45
		Add @ 15.69%				6571.98
						48458.43
		Less @ 9.5%				4603.55
						43854.88
		Say				43855.00